BABUNEERFR2007FEFE
B 2007.04.01 ~ % 2008.03.31

(IR A DER) (Bifir:[)

] B SEEFE|RIFEETE| LLEIERE i =
1 AREIRA 140,000 140,000 0
1-1 E£8 30,000 30,000 0| @3,000x 10 A
12245455 10,000 10,000 0| @2,000x 5 A
1-3 EARE 100,000 100,000 0| @100,000 x 1%t
-4 BBEE 0 0 0| @3,000x 0 A
2 EEIRA 1,190,000| 1,190,000 0
2-1 FR8 630,000 630,000 0| @6,000 x 105 A
2-2F4£8 60,000 60,000 0| @3,000 x 20 A
2-3EANRE 500,000 500,000 0| @100,000 x 5%t
-4 B E 0 0 0| @30,000x 0 A
3 SMEIA 50,000 50,000 0
3-1 SMEUA 50,000 50,000 0| £5@2,000 X 25 A
4 HIRA 6,000 1,000 5,000
4-1 #IRA 6,000 1,000 5000(FEEFF-fLEMAESE
5 fgHE 3,354,000/ 3,014,000 340,000
5-1 EABEZBEINA| 1,054,000| 1,014,000 40,000
5-2 BIEEZHBEIRA 2,300,000/ 2,000,000 300,000

=111 4,740,000 4,395,000 345,000

(ZHEDER)

] B SEEFE| RIFEETE| LLEIERE i =
1 EXE 1,090,000 1,150,000 A 60,000
1-1 BERFHEE 350,000 350,000 0|3[E% (x3N)HREZE
1-2 AR KB E 350,000 350,000 o|BafE#L B R
1-3 RERE (BMER) 60,000 120,000 A 60,000|#LE -HP-NL-ZEEETER
1-4 L EHKIT 230,000 230,000 OBEB1EN BHEIE)
1-5 FERHEE 100,000 100,000 0
2 EBE 200,000 191,000 9,000
-1 HHR-ERE 20,000 11,000 9,000|EEHALE
2-2 FRIZ& 80,000 80,000 O[fa=EH. ASERE
2-3 BEE 70,000 70,000 0|=a—RXLA—FEk - FH5BEHRE
-4 ERWEEE 30,000 30,000 Ol N/ B
3 faHE 1,194,000| 1,154,000 40,000
-1 EXMERYS 1,194,000 1,154,000 40000 ARERUASEREBITY
32 REEBHE 0 0 0
4 FEE 2,256,000/ 1,900,000 356,000

At 4,740,000 4,395,000 345,000




